NAIL STRIP

RECOMMENDED DETAILS AND TRIMS




VALLEY

1.) Temporarily attach valley trim at ends w/ #10-12 x 1” pancake head wood screws.

2.) Apply butyl sealant across top of valley trim as shown.

3.) Attach cleat through sealant w/ #10=12 x 1” pancake head wood screws @ 4”qc,

4.) Apply a second bead of butyl sealant across the top of the cleat, and over the

fastener heads.

5.) Install panels so that the cleat is engaged into the field applied hem.

B" MIN.
VALLEY TRIM
CONTINUOUS
CLEAT
A e
Z - : v

FIELD HEMMED PANEL

END - 1” WIDE
SET CLEAT IN A PLYWOOD ROOF -
CONTINUQUS BEAD OF

MIN. (BY OTHERS)
BUTYL SEALANT
ROOFING FELT - 304
MIN. (BY OTHERS).

W/ ICE AND WATER
SHIELD TO EXTEND
3" UP EITHER SIDE OF
VALLEY

CREATE PANEL END CLOSURE
W/ DOW 795 MOISTURE-CURE
SILICONE SEALANT

#10-12 X 1”7 PANCAKE
HEAD WOOD SCREW W/
#2 PHILLIPS SLOT

@ 4"oc




LOW EAVE

2.)

3.)

5.)

Temporarily attach eave trim at ends w/ #10-12 x 1” pancake head wood screws

Apply butyl sealant across top of eave trim as shown.

Aftach cleat through sealant w/ #10-12 x 1~ pancake head wood screws @ 4”oc.

Apply a second bead of butyl sealant across the top of the cleat, and over the
fastener heads.

Install panels so that the cleat is engaged into the field applied hem.

CONTINUOUS
CLEAT

#10-12 X 1" PANCAKE
HEAD WOQOD SCREW W/
#2 PHILLIPS SLOT

CREATE PANEL END CLOSURE @ 4"oc

W/ DOW 795 MOISTURE—CURE
SILICONE SEALANT

FIELD HEMMED PANEL
END - 1”7 WIDE

LOW PROFILE FASTENER

ROOFING FELT - 304
(BY OTHERS)

MIN. (BY OTHERS)

CONTINUOUS DRIP

PLYWOOD ROOF DECK
CLEAT

(BY OTHERS)
EAVE TRIM SET CLEAT IN A
CONTINUOUS BEAD OF
BUTYL SEALANT

i
—



LOW EAVE / GUTTER

Temporarily attach gutter at ends w/ #10-12 x 1" pancake head wood screws
Apply butyl sealant across top of gutter as shown.
Attach cleat through sealant w/ #10-12 x 1”7 pancake head wood screws @ 4”oc.

Apply a second bead of butyl sealant across the top of the cleat, and over the
fastener heads.

Install panels so that the cleat is engaged into the field applied hem.

GUTTER STRAP
@ PANEL JOINTS

(MAX. 3’oc)

CONTINUOUS

////F' CLEAT

1/4=14 X 7/8"
TEK/1 W/ BONDED WASHER
(3 PER GUTTER STRAP)

ROOFING FELT — 30#
_/// MIN. (BY OTHERS)
GUTTER
PLYWOOD ROOF DECK
(BY OTHERS) -

FIELD HEMMED PANEL
END — 1" WIDE

SET CLEAT IN CONTINUQUS
BEAD OF BUTYL SEALANT

#10-12 X 1" PANCAKE
HEAD WOOD SCREW W/
#2 PHILLIPS SLOT

@ 4”oc

1/2"
CREATE PANEL END CLOSURE /
W/ DOW 795 MOISTURE-CURE
SILICONE SEALANT \g
S ——

PANEL END
SEALANT

\ -

\ GUTTER STRAP
| DETAIL

|




HIGH EAVE TRANSITION

1.) Determine location of zee closure. Apply sealant tape to flat of panel.

2.) Place closure on top of sealant tape. Secure through tape and panel with

#9-16 x 17 HWH wood screws @ 4”7cc. Seal the tab of the closure to the side
joints with butyl sealant.

3.) Apply a continuous strip of sealant tape to the top of the zee closure. Seal
between ends of tape with butyl sealant.

4.) Install the transition trim. Secure fo closure zee with 1/4—14 x 7/8” HWH Tek/1
fasteners at 12"oc.

5.) Fill open hem of counter flash with urethane sealant. Interlock the two trims
and secure counter flash to wall with the appropriate fastener.

URETHANE SEALANT
(BY INSTALLER)
FASTENER

(BY INSTALLER)
COUNTER FLASH ;gf

FILL OPEN HEMS
W/ URETHANE SEALANT

1/4=14 X 7/8" HWH
TEK/1 W/ BONDED WASHER HIGH EAVE

” TRANSITION
@ 1270c TRIM
1/16" X 1/2" BUTYL
SEALANT TAPE .

ZEE CLOSURE. CUT AND
NOTCHED TO FiT BETWEEN
PANEL JOINTS.

/

ROOFING FELT - 304
MIN. (BY OTHERS)

#9-15 X 1” HWH
WOOD SCREW @ 4"oc

3/32” X 17 BUTYL
SEALANT TAPE

PLYWOCD RCOF DECK
(BY OTHERS)




HIGH EAVE

1.) Determine location of zee closure. Apply sealant tape to flat of panel.

2.) Place closure on top of sealant tape. Secure through tape and panel with

#9-16 x 1" HWH wood screws @ 4”oc. Seal the tab of the closure to the side
joints with butyl sealant.

3.) Apply a contfinuous strip of sealant tape to the top of the zee closure. Seal
between ends of tape with butyl sealant.

4.) Install the high eave trim. Secure to closure zee with 1/4—14 x 7/8” HWH Tek/1
fasteners at 12”oc.

1/4~14 X 7/8" HWH
TEK/1 W/ BONDED WASHER

@ 12"0c HIGH EAVE
TRIM
3/327 X 1" BUTYL
SEALANT TAPE

CONTINUOQUS

DRIP CLEAT
LOW PROFILE

ZEE CLOSURE. CUT AND FASTENER

NOTCHED TO FIT BETWEEN (BY INSTALLER)
PANEL JOINTS. \
1/16" X 1/2” BUTYL / \ AN
SEALANT TAPE

#9-15 X 1" HWH

WOOD SCREW @ 4”0c | PLYWOOD -

(BY OTHERS)

ROOFING FELT - 30"
MIN. (BY OTHERS)

|




RIDGE / HIP

1.) Determine location of zee closure. Apply sealant tape to flat of panel.

2.) Place closure on top of sealant tape. Secure through tape and panel with

#9-16 x 1”7 HWH wood screws @ 4”oc. Seal the tab of the closure fo the side
joints with butyl sealant.

3.) Apply a continuous strip of sealant tape to the top of the zee closure. Seal
between ends of tape with butyl sealant.

4.) Install the ridge trim. Secure to closure zee with 1/4—14 x 7/8" HWH Tek/1
fasteners at 12”oc.

#9-15 X 1" HWH

WOOD SCREW @ 4"oc
1/4=14 X 7/8" HWH /

TEK/1 W/ BONDED WASHER

e 12" RIDGE TRIM
1/16" X 1/2" BUTYL
SEALANT TAPE

ROOFING FELT — 304
MIN. (BY OTHERS)

ZEE CLOSURE. CUT AND //

PLYWOOD ROOF DECK
NOTCHED TO FIT BETWEEN — (BY OTHERS)
PANEL JOINTS. / ’

@ ﬁ
1/16” X 1/2" BUTYL J

SEALANT TAPE

® |




RAKE

1.) Temporarily attach the rake trim at ends w/ #10-12 x 1” pancake head wood
screws.

2.) Attach receiver through rake trim w/ #10-12 x 1” pancake head wood screw
@ 12"0C.

3.) Apply butyl sealant over the heads of the wood screws as shown.
4.) Apply urethane sealant inside the open hem of the receiver trim.

5.) Install panels so that the the field cut end is engaged into the open hem of the
receiver trim, and fully embedded into the urethane sealant.

6.) Apply urethane sealant between the receiver and the rake trim. Tool to a fillet.

URETHANE SEALANT

RECEIVER TRIM

#10-12 X 1" PANCAKE
RAKE TRIM HEAD WOOD SCREW W/
42 PHILLIPS SLOT
@ 12”0c. APPLY SEALANT
OVER FASTENER HEADS
CONTINUOUS FLASHING
CLEAT {% ”

LOW PROFILE -
FASTENER X
(BY INSTALLER) \ ! i '\\
T
\ ROOFING FELT - 304

MIN. (BY OTHERS)
!
PLYWOOD ROOF DECK

(BY OTHERS)




HIGH PROFILE RAKE
1.) Turn cut edge of panel up 1”.

2.) Determine location off zee closure. Apply sealant tape fto flat of panel.

3.) Place closure on top of sealant tape. Secure through tape and panel with
#10-12 x 1" HWH wood screws @ 12”oc.

4.) Apply a continuous strip of sealant tape to the top of the zee closure. Seal
between ends of tape with butyl sealant.

5.) Install panels so that the the field cut end is engaged into the open hem of the
receiver trim, and fully embedded into the urethane sealant.

6.) Install the rake trim. Secure to closure zee with 1/4-14 x 7/8” HWH Tek/1
fasteners at 12”oc.

#1/4-14 X 7/8"
TEK/1 W/ BONDED WASHER

FIELD TURN UP @ 12"0c

CUT PANEL EDGE 1”

RAKE TRIM
3/32" X 1" BUTYL \
— N

SEALANT TAPE

1/16" X 1/2" BUTYL
SEALANT TAPE

#10-12 X 1" PANCAKE H §
HEAD WOOD SCREW W/ _— | CONTINUOUS
#2 PHILLIPS SLOT ZEE CLOSURE

@ 12"oc

LOW PROFILE FASTENER ) \, ROOFING FELT - 30¢
(BY INSTALLER) / MIN. (BY OTHERS)
CONTINUOUS \ PLYWOOD ROOF DECK
DRIP CLEAT (Y OTHERS)




RAKE WALL TRANSITION

1.) Temporarily attach transition trim at ends w/ #10-12 x 1” pancake head wood
screws

2.) Attach receiver through transition with #10-12 x 1" pancake head wood screws @
12"0c.

3.) Apply butyl sealant over the heads of the wood screws. as shown.
4) Apply a bead of urethane sealant inside the open hem of the receiver trim.

5) Install panels so that the field cut end is engaged into open hem of the receiver
trim, and fully embedded into the urethane sealant.

6) Apply urethane sealant between the receiver and the transition trim. Tool to a fillet.

URETHANE SEALANT
(BY INSTALLER)

COUNTER FLASH

FILL OPEN HEMS FASTENER
W/ URETHANE SEALANT % (BY INSTALLER)

URETHANE SEALANT

#10-12 X 17 PANCAKE
HEAD WOOD SCREW w/

/ TRIM
#2 PHILLIPS SLOT @ 12"0c. —, 1\
APPLY SEALANT \\ \\

RAKE TRANSITION

OVER FASTENER HEADS

LR

7

\ RECEIVER TRIM

T

PLYWOOD ROOF DECK -

ROOFING FELT - 30# 8Y OTHERS)

MIN. (BY OTHERS)




FIELD HEMMED PANEL END

CUT FEMALE END
BACK 1"

1. PANELS REQUIRING FIELD HEMMED ENDS
SHOULD BE FABRICATED 1" LONGER THAN
THE FINISHED PANEL LENGTH. VALLEY
CONDITIONS MUST BE FIELD CUT TO THE
APPROPRIATE ANGLE

2. CUT BACK PANEL JOINTS 17

™~

3. PLACE PROTRUDING PAN INTO THE PANEL

HEMMING TOOL. THE FRONT EDGE OF THE

TOOL MUST REST AGAINST THE NOTCHED
JOINT LEGS ON BOTH SIDES.

4. WHILE MAINTAINING PRESSURE AGAINST
THE PANEL JOINTS, ROTATE THE HEMMING ‘

TOOL AS CLOSE TO 180" AS POSSIBLE. “

PANEL HEMMING TOOL

5. INSPECT COMPLETED HEM TO INSURE THAT
THE HEM IS OPENED AND CAPABLE OF

RECEIVING THE CLEAT (SEE ERECTION 2
DETAILS). W3
OI

CUT MALE END
BACK 1"

A




30

1 [ 7 1 3 [ L
A Nailsfrip 1
— P 0.299
0,/50
° R0,138
> :
B o /RS 0 58
=~ //RG079 ™ R0O079 & = =
=) T
= =
i s+
_ 21017 0,157 & 0,394
— =}
= 0,94
r
C
Nailstrip 11/2"
D
° R0,138 °
> / : D
o /R018 3
L =~ /[R0O.0O79 N R0079 & /
it gl =
i
=l Lo | | 0,157 2 L1039
= 0,941 =
Zul. Abweichung Oberftache | Mallstab } Position Menge
Mafle ahne
Toleranzangabe
nach OIN 7168-m
Datum Name
Bearv |13 112001 | BACKAR NAILSTRIP
Gepr 113112001 BBCKOR . A
" AND-1_1/2
o (=B o Blatt
Seoomema s 00590015
0-57520 Friedewaid El
Zust | Anderung Oatum |Name| DJalename 1




PANEL PROPERTIES

|
5/16" —-I‘I« {
ot

3/8" J L‘

1.5 NAILSTRIP

L

3/16" —=

7/8" —=
1 1/2" ——

EFFECTIVE SECTION PROPERTIES FOR 12” WIDE PANELS

+ +5 - =S R (allow) R (allow) R (allow)
GAGE L L .3 .4 ) ) ) » , )
(in") (in") (in") (in") 1.0" to 1.75 2.0" to 2.75 3.0° to 4.0

24 (.0247) 0.026 0.038 0.023 0.039 71.6 #/ft 84.5 #/ft 99.34 /1t

Use (+) I (eff) for deflection considerations when the panel is experiencing
downward (positive) loading normal to the plane of the roof.

Use (—) | (eff) for deflection considerations when the panel is experiencing
upward (negative) loading normal to the plane of the roof. ;

Use R (allowable) for the consideration of panel edge fastener tearout under
upward (negative) loading normal to the plane of the roof.

PANEL JOINT AND ATTACHMENT DETAIL

CONTINUQUS BEAD OF
HOT—MELT BUTYL SEALANT

ROOFING FELT
(304 MINIMUM)
#10=12 X 1" PANCAKE HD
WOOD SCREW @ 18"0c (MAX)
PLYWOOD \

SUBSTRATE \

41




t 31/2"
| 6”
GUTTER CLEAT
11/2" —

k :

o N
B | /\L)/
+ r A,
:N N; [«23
HIGH EAVE DRIP CLEAT
| o gé .3 1/2"
— i 54" - | e
- ___%_1 NG
r/—:

B /\




TRIMS

3/4
OPEN
HEM

T' 6 1/2" /4\

|

I T

1/2

Q HEM
R - Lo

HEM | l >\<
/%h—
. 3 1/2%]

RAKE TRANSITION HIGH EAVE = &%,

VALLEY




5A

TRIMS

i

OPEN —=

HEM | 1/2"
HEM

= .
Al R
3 1/4" l
RECEIVER RIDGE / HIP
e 6 1/2" — ]
w T T
. T
_ | ji”*- E

HIGH EAVE TRANSITION

A

.
Jﬁﬁ;ﬂ

COUNTER FLASH




